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This booklet contains 180 multiple choice questions. This Question Booklet is made up
of 2 Parts. Part "A" contains 30 questions (Q. No. 1 to 30). Q. No. 1 to 20 is of 2 marks each.
Question No. 21 to 30 is of 1 mark each. Part "B" contains 150 questions (Q. No. 31 to
180). Each question is of 1 mark each. There is no negative marking for wrong answer.
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As per GO (Ms) No. 49, Human Resources (M) Department, dated 23.05.2022 differently
abled candidates are exempted from the Compulsory Tamil Language eligibility test.
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Allotted time General candidates 210 minutes
Differently abled candidates. 240 minutes
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@&MILILJ&aT/ INSTRUCTIONS

( souastons: LIIYSFH Y SeTLLg BbLgsajw / READ CAREFULLY AND COMPLY)

&R w @mLiLyser / IMPORTANT INSTRUCTIONS

OMR aflewL_ggrafew, aflarrs GgT@LiL aiflensFew snH6\sar SILiLL Haerer @)L 3 Fe
aflesresrLitigryCr sRlwrss BlyLiu CeuessBLo.
Candidate alone should fill the Question Booklet Series correctly at the prescribed place in the
OMR Answer Sheet.

ewrenTLILISTIT $651% @ MFsLILIL L afleng0)s 1 LILITeSIS S651g LITL_SHD&NWST TRTLIGNS FHLITISS|S
Q& mererayLd oY) @)(HBST6 2 L 6STLY WTH enm HerdsnesstiLiLimaril b 0)5alss Gealer(BLd.

Candidates should verify the subject of the question paper given to him/her. If the subject is
changed inform the Hall Superintendent immediately.

@mllyseer pupeugions LsGillH OMR alewrggrefled auflens erewr 1-aSlBrg 16 wpmid
MNerrs0sm1@LL0 auflens etewr 1-alprg 16 auewguilevres ssaIRE®maT SeIaTons BILILIQLD, BHBI%6T
@oLysaie gmpluyereruy Flwuner peopulled ssasamar BlrLil) esQuirliuw @) naiige, 2 EEeTg
aewL_gsremar @ LILTH CFuiuyd Cingy eapL®BLd aflewarays @@ Hri%Gar 6lummLiLiTaiiser.

Read Instructions completely and carefully and fill in the details from SI. No 1 to 16 in the OMR
Answer Sheet and Sl. No. 1to 16 in the Question Booklet. If you fail to fill in the details and signh as
instructed correctly, you will be personally responsible for the consequences arising during scanning
of your OMR Answer Sheet
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OMR Answer Sheets will not be evaluated if the OMR Answer Sheet is filled in wrongly/unfilled
etz 6z 1@ L0 OMR allenL_ggmafer ererenas 950 Cser saLiLL HaTer Q)L sHev 61(ps Couedr(BLb.
OMR Answer Sheet No. should be written in the space provided in the Question Booklet.

. @Qns aflarmsOsngLiunarg 180 aflarmésener 24 Lssmsaiey GsTe(Rerers. aflarms 6l%m@Lilener
Sos@oin  APeynissLiu’ L aiwCr  feveLiLgmaiser  alerns0sm@LNer  FeSl i
W3Bmiseamer Hnas Ceuesipd aileing COzsrgLilier Lussw 3 Sprg 20 euemy 180 aflerrssar @)L Lb
QLD DI GTGTGTCU T 6TGS LITTSSHGYLD.

The Question Booklet comprises of 24 pages having 180 questions. After being instructed to open
the Booklet, then only the candidates should open the Question Booklet seals. Check whether the
Booklet contains 180 Questions starting from page No. 3 to 20.

. Ywargg artssers Loallew wens aflartsser galblaunm alamalp@d @Gy @@ Fllwmes aflen
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All questions are of MCQ (Multiple choice question) type. There is only one correct answer to each
question. There will be no negative marking for wrong answers.

Qomf) ellewrngsenar Gamest LGS $ailr Syenaigg aflarnssepd @)@ Gwmflsailed oLiuL (Rerere. ($LLh
LOPDILD BIFH6V LITL_EIS®6aTs Failr)

All questions other than language questions are in bilingual. (Except Tamil and English Subjects)
afestm (Bsa6T) @6 seupsar @) @pLiller, Csiailer Cung @Qps aflert ($s6r1) #f Oeuiwiu or' L 1g.

In event of any mistake in any question/s, no corrections will be made in the Question/s during the
examination.

aerngClgm@Lifer @muuied, Geuigy umiliugpOlset seaflwuns sl Berer @)L g5GmGw ROUGH
WORK Q#uig uniss Geues®d. Qens allesinsg 6lsm@LiteS)(bbg FfG55dm L 15 FnBHSD STATHET 615/ aLD
QULPEIGLILIL_LDTL L _TZ).

Rough work, it any, may be done in the Question Booklet only in the space provided at the end of the
Booklet. Do not tear it off from the Question Booklet. No additional paper shall be provided.
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Use of Log tables, Calculators, Slide rules, Mobile Phone, Pager, Digital Diary or any other electronic
item/ instrument etc. in the examination hall is not allowed. Their use will result in disqualification.
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This Model Question Paper Prepared by Professor Academy.

afes1ngClF 1@ LiLITesg afletentLiLigmiise@psd 9.50 wp.u. 6@ eupmsLiL®LL. aleTesILiugTiiser alens
Q@i wpnio OMR aflen_ggmafled BlrLiu Geuswrg w afleugmisener #flwns BloLin Geuesr@o. 10.00 wp. s
wessllg@ pesr  wewnfl  @dlE@Ld. ysear LnGs Gl lullL  wps@evgemw PnEs  Ceuest(hLb.
aestngClgm@Lifewer Sppsai ar aGseyd LS/ aflarr @QaTed Q)BSEDST YOG LIGSHEISGT
FPBCsr FHwns yfx LUFe) YsTLGwT QBIFDEST. G LSS FPHLOLL FHLHU UBHDST 6T6ewT
Fsflunissayn  alleng QsrgLle, emGswumag aGsaihd Gop QnLlaybd, yos oD
sewrsresiiLiLimeril_ b Clsfallgs aflerrs Csm@Lilleer wipmls Csmerer CoussBo Csiay (LpLy ouS DS Tes
615515695 ewfl 1.25 19.1-8@d, @QmuP toewfl 1.30 9. 1. SGLb 919 &G Lb.

The Question Booklet will be issued to the candidates at 9.50 am and the candidates must fill in all
entries in Question Booklet and OMR Answer Sheet. Candidates should open the question booklet
seal after a long bell at 10.00 am. After opening the Question Booklet, ensure that any page/question
is not missing/not printed/torn/ repeated. In case, you find any defect anywhere in the Question
Booklet, immediately inform the Room Invigilator and get it replaced by him. Warning Bell will ring at
1.25 pm, and the last long bell will ring at 1.30 pm.

Gs ey eresst OMR aflew_ggmar eressr, aflerns G\gm@LiL) crewr. OLiwib Pmith ensuwimLiLiLh
Cuneaipeneusener 9snCser allerng Cgm@Liy wppid OMR aiflen_ggmafled soLiLiL Rerer @)L_gH e
Bl Geauess(hLd.

Write your Roll No. OMR Answer Sheet No., Question Booklet Series, Name and put your signature
in the space provided in the Question Booklet as well as in the OMR Answer Sheet.

@a0eurs aflermalleyid A, B, C, D eraiigy @019 _LiLil” D eirer presi@ allenL_ser Lt (5 6Teares.
Ra16)eu Ty ANTTEUULD, FUGTLOTS LILY 55, 2_BI%@hSE FOWTTS 6163 H(HGILD aflenL_uflen s
GsiB0ls®ssa . OMR aflenL_gsmafled oyaialermalpOsear suLiuL Rerer @)L g% FAlwmet oL’ L s
Blpef) B eus e epevLd 2 migars aflen_eoiw GOILILIL_ayLd. B)ped)® eusbm 0)s a8t &(hew DB LibSI(Lp a6
Guesrmaies o HGo LwesTii(hSF Gouesst(hLD.

With each question, you will find four possible answers, marked by the letters A, B, C and D. Read
each question carefully, and find out which answer, according to you is correct. Indicate your
answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding to
the question. For marking answer, use Black Ball Point pen only.

OMR aflenL_gsmariersg sessflet] epevid B LILF® OFwiw i@ oLy g eenoEsLiLL R eTers). GLopdmmw
@OILILys@mer seoL_Li1g ss1ailg 60, senflef] apevd LHLILTR CFuicus @QuerssTHalBLD. @)FeTTed
afessTenTLILISTI(HS G eI LIBLD Q)LpLILS @%@ aflesstenrLiLigmyGy ClumpyLiLimeuy.

OMR Answer Sheet is designed for computer evaluation. If you do not follow instructions given
above and shown in the OMR Answer Sheet, evaluation by computer will become difficult. Any
resultant loss to the candidate on the above account, shall be of the candidate only.

@B Loewsfl @edlLiILISD & (et 6165 6leunh aflessrentLiigTpLd Caiey Yemmeow il () QeualCwma
L5l Caia) yemmeyw oL HF OFavad wpary OMR allenL_gsgmenar ojenm evsrsmenf]LiLimarfl b
FLoiLiL96% GoussipLd aflesing Osm@Lilen e aflessenrLiLigTrGr 61(hs5IF ClFedevevTLD.

No candidate should leave the examination hall before the final bell. The OMR Answer Sheet

should be handed over to the Room Invigilator before leaving the examination hall. The candidate is
allowed to take the Question Booklet with him/her.
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Part B
GEOGRAPHY / yailuflwed

31. The ratio between number of links and the number of nodes
is:

A) Alpha Index
C) Gamma Index

B) Beta Index
D) Eta Index

31. @) emewTLiL|S e 6T 6TesTeR % ULD (Lpe® &I S aif) 65T
TGRS S S WILD 2 6T I FHBLD 6157

<) L L7 GPlui®

) FL LT @Gl

=) sydUT GBUIG
@) smom GBuiH

32. What is the Demographic Transition Theory?

A) A theory that describes how population grows exponentially
B) A model explaining changes in birth and death rates over
time

C) A theory that supports uncontrolled population growth

D) A model predicting population decline in the future

32. 108561 OF1ens omwmd CHTL LIT®H 6TGTLIG]
GTGOTGOT?

9)) &S 0BT 6TaM TH] 2 aTIG) 6V TLOGY
UATISI DG eTeTLIeDS aflars @b CHmLLim®

<) UL pmid @mLiLy @)% s sl 6T
FMTVSFBGTLILG LOTDILD IFSeF allaTs @ LD LomS)H
@) s QUUTL P waseT 0)FM60% euaridFeow
2 B05GLd CHmLLim)

T) 61H) J% TS BV Lo&F 6T OlGTen s G U LD 6T

Fewl|&@Ld LTS

33. Which of the following best defines a city region?

A) A rural area adjacent to an urban settlement

B) An area that surrounds an urban settlement which functions
as the regional centre

C) A single city with no surrounding influence

D) A region where only one function dominates, such as

agriculture

33. Bpaent_auppled 61 pHIL LNTTHEH WSS
FpLUILINS Ue»TWDISHDH?

TRB
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<) LIITEH W e owiorssd QFuLIBL FSIFmSF
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) afeugmuwird Gurep g GlFwaedT® o’ HGLo

PGSO OV FIFHILD LNTTEF WLD

34. According to J.E. Swartzberg’s division of cultural regions
of India, Rajasthan falls under which cultural region?
A) Western Indic Region B) Main Indic Region

C) Hill Indic Region D) East Indic Region

34. Ge0.@). aveungL ebGlLIgs (J.E. Swartzberg)
Seuisanesr @QpHwLl et BL L97CsFm1% e et
Lflafleiriing, (@)rmeevsTesT 61BS LI LIGwTLITL (B
Womp@wg e Gip i S ngi?

<)) Cup@ QBFwLi rrpHwLd

<) W B W QBFwL L9TTEH WD

@) weve @BH WLl LTTHHuwiLd

) &ps & @Q)BS WLt LomsSuwiLd

35. Regarding the Losch ‘Principle of Profit Maximization,’

which of the following statements is correct?

1. Industrial location is characterized by conditions of
monopolistic competition.
2. Demand is considered to be the most important

variable in the location of an industry.

A) Both I and 2 B) Only 1

C) Only 2 D) Neither 1 nor 2

P.T.O



35. Gevray (Losch) 9jeuisefat ‘@ evm HFsHLL 55
Garlur®’ (Principle of Profit Maximization) %035
SLHSHHEHTL_UDPled 618 FHlwmes)?

1. Qsmfled syewwalll b asGLrsE
GuimL 19 u9esT [)ew 66w Lo & GTTED
P55 M55L1LIEHS D).

2. Gamfled gyeowail_gems BliewruiLiLiF e
Gaemau L% (LpasFHw apledwunss

FBSLILIBE DG).
9 @QuesT(HLd Fl <) 1 oL Qb Fifl
@) 2 w @ FA ) @It SaIm]

36. Which of the following is also called the Oriental Cultural
Region?

A) African Cultural Region

B) American Cultural Region

C) European Cultural Region

D) South Asian Cultural Region

36. BLpFeTL_uP Pl 618 H)LpHHS B LIGsTLITL (B
LorpSuwLh eTesayd 9enLpsHsHLILI(HFDH?

<9)) 9119058 LesTLTL (B LgmHSwiLd

<) O fEs LewTLmL (B LgmESwid

@) eComilw uestur® orpFwLd

) O\Fer P w LiewTLImL (B LNgmEHwiLh

37. Who propounded the Law of the Primate City?
A) Mark Jefferson
C) Vidal de la Blache

B) Carl Sauer
D) G.K. Zipf

37. Qognes psgs CHTL LML 9L (LpTen eSS e T
wmg?

) oM OlggodLifFesT <)) HTIGO FTeu
@) afl_med 19 T aTTak ) @8). Ga. erdlL]
38. The two main principles that influence the hierarchy in
Christaller’s theory are:

A) Transport and Economic Special Principles

B) Threshold Population and Range of Goods

C) Agglomeration and Localization

D) Demand and Supply
TRB

38. dMlev_mevg CHmLim’ 1960 pleweveuflenFen s
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39. Which statement is not correct regarding Losch’s Central
Place Theory?

A) Hexagonal unit used like Christaller

B) The value of ‘K’ remains constant

C) The value of ‘K’ keeps increasing and decreasing

D) Lésch described the Central Place Theory and its market

areas in his book “The Economics of Location”

39. Gavray oeujsafier enow @)1 & Camm e
LM $@IDTRT S0 DD 61517

<)) FplavL_meven gLl GLimev mI(LpSHHLD alg 6
VG LWSTLRSSLILIL L G

<) K’ o@LIL) LDAD TG BlewevulTd Q) (5 G LD

Q) K’ @iy 29sA551 GeopujLd

) Covmay eig “The Economics of Location” 6TesID
5555560 eoow @)L % Gamm " eoL_

N1 st

40. Arrange the following agricultural belts, propounded by
Von Thiinen, from the central city to the periphery:

a. Intensive grain farming without fallow

b. Horticulture and milk production

c. Three-field system

d. Livestock farming

A)bacd B)bcad
Clabdc D)dach
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40. Gourneer gjestesileat (Von Thiinen) Gouermessiento BlevLi
vweTUTL () LorL_eSle, 9 LoW 5% TS P eS) (BB
QeuaflLiymp eTedeme aueny LlaTeuHLd Geauarmesst
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41. Arrange the following methods of delineating crop
combination regions according to the year they were proposed

— from earliest to most recent:

J.T. Coppock’s method
Peter Scot & Thomas’s method

Doi’s method

ANowoho~

J.C. Weaver’s method

44321
04123

B)4,3 1,2
D)4,2 13

41. Ly S B K gaESw kIS ars
GO B USDHEHTET SLHSSEHTL_ (LPEODHEM 6T 2 e 6L
et mpPw it L et Sefer euflenFLitig
(p5eled @Gp5 FLBLISFW areny)
PWEGLOSSI5:

1. Geo.1g. smi0LIns (pewm
'L g evsrl wpmid GEmed (Lpenm

GLmuf) wpewm

L

Ce. 8. afeurd peom

<4321
@ 4123

o) 4,3 1,2
w4213

42. Which of the following pairs is not correctly matched?
A) Spring storm showers — Odisha

B) Blossom showers — Gujarat

C) Mango showers — Karnataka

D) Norwester — West Bengal

TRB

42. BrpseTL_ @)enenTLiLSalled Filwims
CuT®ES1531 61817

9)) UFBSL LJWIG) LDGWLD — QLY FIT

<9} LIQTTewLd Lo Lp — $HEITS

() LOADLIL LDGDLP — HTBTL_&HT

) CrriQeuev - Gop @eumisLd

43. Consider the following in the context of tropical wet

evergreen forests of India:

Annual rainfall should be below 200 cm
Annual rainfall should exceed 250 cm
Rainfall should be distributed throughout the year

AWM~

Annual temperature range should be 25°C to 27°C

Which of the above conditions are essential for tropical wet

evergreen forests?
A) 1 and 2 B) 2 and 3
C)2and 4 D) Il and 4

43. @ pSwraller Fyg #&)LiL) G)euLiLILDesTL 6V
s1B&aT (Tropical Wet Evergreen Forests) G\&mL_gLims

L9e8T6U(HLD Fnp IS aTL] LIfESSH 0 LD:

1. e e pafpdd 200 OF 15-5F GLpns
QB35 Gouest(H)LD

2. e e pafpEF 250 C1F 15-5@ GopLi
Gauesnr(p)Ld

3. wenp esT(h (Lp(LpeUGILD FLoLomsLl O
Gauesnr(p)Lbd

4. e OeuLitiBlency 25°C (Lpged 27°C eueny
QB35 Gouest(H)LD

@)B55 H1(H% @53 CF6» QW TGS [51LIHS e GTS 6T
6Tem6U?

<) 1 oppiLh 2
@) 2 w4

<) 2 opmiLb 3
) 1 LopmILd 4

44. Where was the first successful cotton textile mill set up in

India?
A) Kolkata B) Kolhapur
C) Ahmedabad D) Mumbai

P.T.O



44. QBHwraled Lpsed OleuDM&ILD TS LI(5SS)
QBUIS6D gy emev 61EIE BlmieuLii’ L g?

) CeTVSSS T

Q) QDLOLOFTLITS
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) (LPLOGOLI

45. Statement I: Haematite iron ore occurs as massive and

hard compact ore having reddish or coral red colour.

Statement I1: Most of the haematite iron ore is found in

Dharwar and Cuddapah rock systems.

A) Both I and II are true and II explains [

B) Both I and II are true but Il does not explain [
C) Iis true, Il is false

D) Iis false, Il is true

45. mpmi I: @Groewi L @Q)(BLOLIS ST
OupLoaralled FauLiy edevd @)eTeEhFaiLiLy
BIDSGIL_GST HLY GTLDTEHQLD I L_[J&FH W THaLD
STeTLILI (D E D G.

Fmpnl 1l aGoenL L @Q)hLoys $mgy O LI(HLDLITEILD
SOQUTH LPMILD &L LILIT LITEHD W LOLIL|S 660

SITLILIRFDG.

<9)) @uesstpd Fifl, Cogyiih 11, I-g9 @flens &GS g
<) @Quest(pLd F, gy erre I, I-g0 aflens5aieden ev
@) 1 &0, 11 saup)

) I seumy, 11 F)

46. Which of the following statements is not correct regarding
the Bundelkhand region of Madhya Pradesh?

A) Most of the region is a peneplain dotted with small hills

B) The soil is made up of black and red soil mixture

C) Most of the soil is sandy and loamy here

D) Average height of this region is 1000—1200 m

46. 1035w L970CFFS S 61 LjesTGL_cOsH 6L
rmpSwgHens Ll Lpm) LN6Teu (HLD Fo iM% e 6D
SUMTESTS| 61517

<9)) @LILIGS FPW LD6H6VS EVFL_GWT LI G2 (b
Guesfliew areir 9),@Ld

<2 LOGRT H(HLIL LPMILD FeuLiL] LDeSTLenFa)
Q& mewrL_g)

TRB

Q) QLILIGSuN 6T O)LI(HLOLITGV TGS LDGSST LD GESTGY
LODMILD FESTERTTLOL| F6VBBH]

) @uiLg@uiler Foasd o wgLd 1000-1200 L1

47. Where do the western disturbances that bring winter rains
to north-western India originate?
A) Arabian Sea B) Black Sea

C) Mediterranean Sea D) Red Sea

47. auL_Gop@ @pHwrailp@ &eflisre wenpenw
apLBHSGID CLoD &GS HewdF LWDEaT 6ThSd HL_6560
G mesrm & 6T 61?2

<) G Vwg H1_6D <) Herng &

@) Glworg L Gresfluwiesr &b ) ClFmISL_6»

48. Consider the following passes of the Himalayan region:

Banihal
Shipki

Burzil

N N

Bara-Lacha-La

In which group is the sequence from North to South correct?
A) 1,342 B)3, 1,42
4231 D)2,4,13

48. 9aSTeuHLD @) oW IDEN LT LITFHSN6) aUl_55)6D

@ BBg OFPE15 FHwTeT auflens 615)?

1. ueflammed

2. oflLi&

3. ug9e

4.  LUTII-GUIFT-6VT
<) 1,342 93, 1,4, 2
@423 1 m 2,4, 1,3

49. The northern part of the Eastern Coastal Plain is known
as:
A) Konkan Coast B) Coromandel Coast

C) Northern Circars D) Malabar Coast

P.T.O



49. B1p& @ sL_Cevmy FLo6leueluiesr euL_&@& LGS
GTRIGU TN DG LPSHSHLILI(HFH D)7

9)) OFMBISEET HL_DFHeT

<) CaTGImTDEsTL o) SL_DEHenT

Q) auL_&@ FosTISGT

FF) LOGULIMT SL_DEH6OT

50. The eastern part of Thar Desert up to Aravalli Hills is

known as:
A) Marusthali B) Khadar
C) Rajasthan Bagar D) Tarai

50. 976U 6] LDGHGVSHGIT QU T [b@HLD T

LITEn UGS BT FLps G LI LGS 6Talalmn]

QY LPSHHLILIBHFDHI?
) LHeD S ) ST
) TTEQeVSTET LITSH T FF) ST

51. The important mountain passes located in Sikkim are:
A) Rohtang Pass and Shipki La

B) Nathu La and Jelep La

C) Bara Lacha La and Zoji La

D) Lipulekh and Mana Pass

51. DEGIO6D e LDbFIGTAT (LPSFHI LDEHGVLT
LITESSGIT 6T6H 67

<) Cunggmm Limed LPmILd afL1%) evr

<) BAgievm wPnith Gleblevis er

@) Lmgm rFT v PmILd ClFTedl eur

) Oy Gevd LoPmiLd LOGTIT LITeD

52. Which of the following zones in India is most prone to

earthquakes?
A) Zone I B) Zone Il
C) Zone IV D) Zone V

52. @BFwrailed BlevpBSHLD HPFHLD eIm LI(HLD
LDGSTL_GULD 6157
9) LoGusTL_GuLD [ <) LoewTL_GvLd 11

@) westL_evid IV FF) LDGSTL_GULD V
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53. Which one of the following is a characteristic of a
temperate cyclone?

A) These cyclones generally move from west to east

B) Air pressure in the centre falls below 650 millibars

C) Generally their speed is more than that of tropical cyclones

D) After origin they move towards west

53. 1015 QeuLiLI LoessTL_6v FHIpeOSADPIET FpLiLy 61517
<) @eaeu Clungyeuns Gop&ed Brs HpsGs

153 [J&) GBT/D GoT

<) eLow Ll LGS UGS TP (LPSHLD 650 L5e0eS) Limi
&G @BaHSL

@) @euppler Geustd GleuLiLioesrL_cv
FLPGOSHTHMIFE T il L 9 F)HLDTGLD

) 2_peunest Lesr Com Gs 58 5% 6ot et

54. In Thornthwaite’s revised climatic classification of 1948,
the basis for demarcating climatic regions was —
A) Vegetation B) Potential evapotranspiration

C) Humidity D) Temperature

54. 1948 b gy ew1ig o0 CHTicIGIeoIL 0 GHSS
AP P LDESLILIL L STBIEH6 UHHLILITL 19 6D
LorpFwsisener CouniLiHSHw L9 LILIGHL 617
9 ST JHIEGT <) Fr3Fw N Guim b
Q@) FoLLSLW ) GleuLiLiblemev

55. Which of the following facts regarding the Mid-Atlantic
Ridge is correct?

A) The highest peak in this ridge is the Pico island of the
Azores

B) It is known as the Challenger rise in the north of the
equator

C) It is known as the Dolphin rise in the south of the equator

D) Sandwich island lies at the southern end of this ridge

55 0L -9y eurressig & JIL'gd GmIs S

LiesTeu (heuasTeup mled 618 FHlw Tes)?

9)) @& L% 2 wigoneT FEILH Y CFrged $ayseeD
2 airer L95CEHT Gay

<) @1 YwsFw Crenss @ aul_sG% Fmev@Ehai

2 WIRUTSH YD PSHLILIHF DS
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56. Match List — I with List — II and select the correct code.

List—1I (Trench)  List—II (Ocean)

a. Mariana 1. Eastern Indian Ocean

b. Tonga 2. North Pacific Ocean

c. Sunda 3. Southern Atlantic Ocean

d. Romashe 4. Central Southern Pacific Ocean

A) a1, b-2, ¢-3, d4
C) a4, b-2, c-3,d-1

B)a-2 b-3, c-1,d4
D) a2, b-4, c-1, d-3

56. L igwed — I pmytd L g uwied — 11 @ Clurhg S
Flwrest GPufL ewL_g G505 HFSa L.

UL 1gQuwed — 1 (QLpSL_60 LaTarLd) | L 1g uied —I1
(QLEmEISL_6V)

a. wilwnert 1. Sps@ QBFLI ClLipEISL 6D

b. QsrmisT 2. auL_&@& LUFLS OLI(hEISL O

c. &ewrm 3. Q8D@ L ey s O)LI(hmISL 6O

d. GumonGay 4. s w Clgm @ LHLIS Gl BISL 6D

<) a—1, b-2, c-3, d4
@) a4, b-2, ¢-3, d-1

<) a-2, b-3, c-1, d—4
) a-2, b—4, c—1, d-3

57. Which of the following statements is not correct?

A) Corals are found at shallow depth

B) Very high oceanic salinity is beneficial for coral growth
C) Oceanic waves and currents are beneficial for corals

D) Global warming has an adverse effect on corals

57. L9etTeu (heuaTauppled 618 SaUm TeTs)?

<)) LIGIGTEISET QLPLOMMD FHL_60 L& 5% e ed

& T6ssTLI LI (5) &) 68T/ 68T
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58. Which of the following statements is not correct?

A) Temperature and density are generally inversely related in
oceanic water

B) When salinity increases, density of oceanic water also
increases

C) Pressure and density of oceanic water are directly related
D) Temperature of oceanic water below freezing point

increases its density even more
58. LevTeuheuaTeupmled 6181 SeUm TeTs)?

9)) L Bilev QauLiLiBleoev oPmILd L[5S
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59. If high tide at a place occurs at 4 p.m., when will the next
high tide occur at the same place?
B) 4:52 a.m.
D) 4:26 a.m.

A) 4:52 p.m.
C)4:26 p.m.

59. @B @Q)L-FHeO LoTenev 4 LDewsI% @ 2 W T Y eHev
IDLIBLOTGTTE, 9 (HSS 2 Wi eV 6TLICLITg
aIpLI(BILD?

9)) LoTE®6V 4:52 9 BFTE6 4.52

LDITE®G6V 4. IT) 2 FHTemev 4
4:26 4:26

60. Which of the following are cold oceanic currents?

1. Humboldt
2. Opyashio
3. Kuroshio
4. Benguela

A) Only 1, 2 and 3 are correct
B) Only 1, 2 and 4 are correct
C) Only 2, 3 and 4 are correct
D) All 1, 2, 3 and 4 are correct

P.T.O
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61. In Koppen'’s climatic classification, which climatic type
represents the British type of climate?

A) Af B) Aw

O b D) Df

61. GxmrLiLiest (Képpen) &mevblenev
QuenSLILITL 19 &1L, L9719 0 aIens
FTVFIVE W HD)SGHLD UHS 6157
<) Af <) Aw

Q) Cp ) Df

62. Arrange the following in correct chronological order —

Eon, Era, Period, Epoch.

A) Eon — Period — Era — Epoch
B) Era — Eon — Epoch — Period
C) Eon — Era — Period — Epoch

D) Era — Epoch — Eon —> Period

62. eteupeueTaupnenm Filwimet euflenFuiled

QLS FH@ LD — Eon, Era, Period, Epoch.
<)) Eon — Period — Era — Epoch
<9,) Era — Eon — Epoch — Period
) Eon — Era — Period — Epoch

) Era — Epoch — Eon — Period

63. Which of the following correctly describes the Indian
Ocean Dipole (I0OD)?
A) It is a phenomenon of sea surface temperature difference

TRB

between the Arabian Sea and Bay of Bengal.

B) It is a periodic oscillation of sea surface temperature
difference between the western and eastern Indian Ocean.
C) It is the monsoon reversal system of the Indian
subcontinent.

D) It refers to oceanic salinity difference across the Indian

Ocean.

63. @BPwLi QLIS 60 e _iGLimed (Indian Ocean
Dipole - I0D) 61¥TLIED S5 &M% @ LD FHW TS afaTssHLD
618)?
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64. What is the unit of measurement typically used in a DEM?
A) Pixels B) Hertz
C) Bytes D) Meters

64. 19881 6 2 wpg Far euengLiL LD (Digital Elevation
Model - DEM) GlLing|ouns 61hs erafl” (h evH e

YTESLILIGFDSH?
) LNEF0EeT <) Oam i ab

@) e sar F) LB L_j&aiT

65. Which of the following is an example of spatial data type
used in GIS Databases?

A) String B) Integer

C) Point D) Date

65. Lafluflwed $&5616d emLoLiL%afeD
LWTURSSLILGLD @)L i) $I0] e s5s e e)
18 R TBOSBISHTL(H)?

<2l) TSI ) P GTawT

Q) yairaril w) G35
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66. Following statements are given regarding GPS system:

1. Itis based on radio-navigation system.
2. It provides accurate three-dimensional reference

position.

Select the correct answer:
A) Only 1 is correct

B) Only 2 is correct

C) Both 1 and 2 are correct

D) Both 1 and 2 are not correct

66. $GLp GPS e LoLiew LIF FTGBS F (5SS % 6T

CBTRSHLILIL (B eTeTeT:
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67. Which of the following maps is made on a large scale?
A) Topographical sheet
C) Atlas D) Wall map

B) Physical map

67. BLpssent_aupmled 615 OlLiflw yeralevrest
QUEDTLIL_LDTELD?

<) Blevaurger euengLiL_tb (Topographical sheet)
<) @QuPens auengLIL LD (Physical map)

@) oL 1L auenewnt auewTLIL LD (Atlas)

) & euemFLIL_tb (Wall map)

68. The scale of an aerial photograph is 1:50,000 and focal
length is 10 cm. Find out the flying height of the aircrafft.

A) 3333 m B) 5250 m
C) 7500 m D) 5000 m
TRB

68. e eureslenevLiLIL &S 9 aTeysGsHmed (scale =
1:50,000 LopmiLd Hessrewtiry Beard 10 cm eT6sflev,

LD TS BT LIDSFGLD 2 WILD 6T GT6Y?

<9y) 3333 15 <94) 5250 15

@) 7500 15 ) 5000 L8

69. Which projection is very useful for world maps showing
navigation routes, wind direction, and ocean currents?
A) Gall’s Projection B) Mollweid Projection

C) Mercator Projection D) Conical Projection

69. 2 % UITLIL BIFafed HL_60 auflF ClFey S5 e,
SIHOIET Heng, S0 FGITL L 1b Y Fweipennsd
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70. Which type of electromagnetic radiation has the largest

wavelength?
A) X-rays B) Infrared
C) Radio waves D) Ultraviolet

70. 181% Beriomest syemevbarid Ol mesrL Lileresilwss
FBTIFF 615]?
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71. Which of the following projections is best suited for
mapping areas near the equator?
A) Conical Projection B) Cylindrical Projection

C) Zenithal Projection D) Gnomonic Projection

71. YogBw Grens 2 (hF e aTar LGS S ar
UdTLIL FF 6 ST HUSH G LOSa LD
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72. In which projection are both the shape and direction
accurately preserved, but area is highly distorted?

A) Mercator Projection

B) Mollweide Projection

C) Sinusoidal Projection

D) Lambert’s Equal Area Projection

72. Uiy QupLD FewFuLd FAWITSS HMTSSLILI(HILD
GTTE LIFLIL| LO% B HLOTS FlenFaLILI(BILD
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73. Which of the following projections is most suitable for
mapping polar regions?

A) Cylindrical Projection

B) Zenithal (Azimuthal) Projection

C) Conical Projection

D) Sinusoidal Projection
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74. A projection that maintains area correctness but distorts
shape and direction is called—

A) Conformal Projection

B) Orthomorphic Projection

C) Equal-area Projection

D) Perspective Projection

74. ugliy FAWS () (HSGLD LT QULQ QILD LOHMILD
FewF HenGaien L LD QUEHTLIL LD 6TGIG T
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75. Which of the following projections is most commonly used
for topographical maps?

A) Conical Projection

B) Polyconic Projection

C) Cylindrical Projection

D) Zenithal Projection

75. BleveuLg 6y eUEmILIL 1% @h% &L G)LImgyeumaL
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) FnlDL QLY G UGHTLIL LD

Q) LIGDFnLDL] QUGHTLIL LD

Q) o (BT QULYLRI UG TLIL LD

F) 2 FF QLY@ QUGDTLIL LD

76. In map design, which color is conventionally used to
represent water bodies?

A) Green
C) Blue D) Yellow

B) Brown

76. auemgLIL_ Ly e LoLILIe), BHKenevsen ar
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77. The term “choropleth map” refers to—

A) A map showing point symbols

B) A map using shaded areas to represent statistical data
C) A map showing contour lines

D) A map indicating land ownership
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78. Which map represents continuous phenomena such as
temperature, rainfall, or air pressure?

A) Choropleth Map
C) Cadastral Map

B) Isopleth Map
D) Flow Map
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79. Which type of map shows movement of goods, people, or
information between places?
A) Isopleth Map B) Cadastral Map

C) Flow Map D) Statistical Map
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80. A Cadastral map is primarily used for—

A) Geological mapping

B) Demographic mapping

C) Land ownership and property boundaries

D) Climatic mapping
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81. In a GIS database, metadata primarily provides
information about—

A) Raw data values only

B) Data about data such as source, accuracy, and date of
creation

C) The software used for analysis

D) The projection system only
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82. Which of the following statements is true about raster data
in GIS?

A) It stores features as points, lines, and polygons

B) It provides high precision in boundary representation

C) It divides space into a grid of cells or pixels, each with a
value

D) It is unsuitable for representing continuous data
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83. Which of the following represents the correct order of steps
in Digital Image Preprocessing?

A) Image enhancement — Radiometric correction —
Geometric correction

B) Classification — Filtering — Mosaicking
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C) Radiometric correction — Geometric correction — Image

enhancement

D) Image interpretation — Band combination — Resampling
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84. In vector data model, spatial features are represented
using—

A) Grid cells and pixels

B) Points, lines, and polygons

C) DN values of pixels

D) Spectral bands and radiometric resolutions
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85. In the post-processing phase of digital image processing,
which task is commonly performed?

A) Atmospheric correction

B) Geometric rectification

C) Noise removal

D) Accuracy assessment and map generation

85 1928 L& L QFwedpenpuller LBeosw

S L gHed Oungiains QewiwiL@®w Lessilumesg)
61%)?

%) UGTLOGHTL 6V B(BSSHLD

<) g el HBSsL

Q) @6 pEsLD

) S1eveSlw LGB LILFH) LoD MILD CUEHTLIL 2 (56 THELD

TRB

86. Which approach suggests that humans are just one part of
the interconnected web of life and have no inherent superiority
over other species?

A) Anthropocentrism

B) Biocentrism

C) Ecocentrism

D) Techno-centrism
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87. Which environmental hazard is characterized by excessive
accumulation of greenhouse gases leading to global
temperature rise?
A) Earthquake B) Volcanic eruption
C) Climate change D) Landslide
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88. Which of the following is a potential impact of urban heat
islands?

A) Decreased air pollution

B) Lower energy consumption

C) Enhanced cooling effect in cities

D) Elevated energy demands for air conditioning
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89. What is the main consequence of global warming on
ecosystems and biodiversity?

A) Increased species diversity

B) Improved habitat conditions

C) Disruption of ecosystems, loss of species, and shifts in
distribution

D) Decreased competition among species
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90. Which of the following is an international agreement to
limit global warming?
A) Rio Protocol B) Montreal Protocol

C) Kyoto Protocol D) Paris Agreement
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91. Which trophic level has the highest energy content per unit
of biomass?
A) Primary consumers B) Secondary consumers

C) Tertiary consumers D) Producers
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92. What term describes the interconnected feeding

relationships within an ecosystem?

TRB

A) Energy pyramid B) Trophic cascade

C) Food web D) Biogeochemical cycle
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93. Which ecological pyramid depicts the number of organisms
at each trophic level in an ecosystem?

A) Pyramid of numbers B) Pyramid of biomass

C) Pyramid of energy D) Pyramid of diversity
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94. In the Sulphur cycle, which process releases hydrogen

sulfide (H2S) back into the atmosphere?
A) Photosynthesis

B) Nitrification

C) Sulfate assimilation

D) Bacterial decomposition of organic matter
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95. The tropical rainforest biome is primarily characterized
by:

A) Low rainfall and sparse vegetation

B) High temperature and high rainfall throughout the year
C) Seasonal droughts and moderate rainfall

D) Low temperature and permafiost conditions
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96. An ecosystem can be best described as:

A) A group of similar species living together

B) Interaction between biotic and abiotic components in a
defined area

C) A large geographical region with uniform climate

D) Only the biological community without environment
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97. A region in geography is best defined as:

A) A part of the Earth’s surface having uniformity in one or
more characteristics

B) A random political boundary

C) A single urban settlement with mixed land use

D) An area with completely heterogeneous features
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98. Which of the following is a formal region?
A) The wheat-growing region of India

B) The trade area of Chennai city

C) The metropolitan region of Delhi

D) The industrial hinterland of Mumbai
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99. Which of the following best describes a functional region?
A) A region defined by uniform temperature

B) A drainage basin

C) A city and its surrounding commuter zone

D) A desert region with arid climate
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100. A planning region should ideally be:

A) A culturally homogeneous area only

B) Politically identical with administrative units

C) Economically self-contained and geographically cohesive

D) Large enough to include several countries
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101. The delimitation of planning regions in India primarily
considers:

A) Political boundaries alone

B) Population density and linguistic diversity

C) Economic resources, transport linkages, and administrative
convenience

D) Religious and ethnic factors

101. @pFwraied S 1 OGO L9765 W ElF 6 65T
UM TWEDD (LPEHFUILDTH 6TeNS F(hSF) 6D
OsreTepHms?

9)) YTF W 6TOmVSHET LoL  (HLD

<) LOSSHT YL_[FEH) oPpmd O LIGaIenHen LD
@) Cunertsry euerEisaer, GLITE@HeTSS5]

Q@) ewewTLIL|SaT LODDILD BlT0TEH UFFE T

) LD oM MILD (R)GST & TITGwstl Gt

102. According to Myrdal’s theory of cumulative causation,
regional imbalance persists because:

A) Resources are evenly distributed

B) Backwash effects are weaker than spread effects

C) Backwash effects dominate over spread effects

D) Every region grows at the same rate
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103. The Growth Pole theory proposed by Frangois Perroux
primarily emphasizes:

A) Agricultural self-sufficiency in rural regions

B) Political boundaries as development centres

C) Decentralized planning through micro regions

D) Concentration of economic growth around dynamic

industries or centres
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104. In India, the Growth Centre approach was first
emphasized in which plan period?

A) Fourth Five-Year Plan ~ B) First Five-Year Plan
C) Eighth Five-Year Plan D) Twelfth Five-Year Plan
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105. According to Friedmann’s Core—Periphery model,
development primarily results in:

A) Equal growth across regions

B) Decline of industrial regions

C) Uniform diffusion of technology

D) Concentration of growth in core regions and relative

stagnation in peripheral areas
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106. In development studies, explicit efficiency refers to:

A) Economic growth without considering human well-being
B) Equal distribution of income across sectors

C) Maximizing output with optimal utilization of available
resources

D) Industrial expansion based only on exports
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107. The Human Development Index (HDI) includes which of
the following indicators?

A) Life expectancy, education, and per capita income

B) Urbanization, literacy, and natural resource index

C) Population density, GDP growth, and industrial ratio

D) Social equality, gender ratio, and political participation
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108. Which one of the following best defines a natural
resource?

A) Any material artificially produced for human use

B) Any biological material available for industrial
consumption

C) Any object that supports cultural and aesthetic needs of
people

D) Any component of the environment that can be utilized to

satisfy human needs and has utility and value
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109. Based on renewability, resources are classified into:
A) Abiotic and Biotic C) Renewable and Non-renewable
B) Local and Global D) National and International
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110. The main objective of land resource management in India
is:

A) To ensure sustainable utilization of land through prevention
of soil erosion, reclamation, and proper land-use planning

B) To promote industrial development in arid regions

C) To replace traditional agriculture with mechanized
monoculture

D) To focus only on forest conservation
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111. The major problem associated with water resource
management in India is:

A) Uneven spatial and temporal distribution of rainfall leading
to floods and droughts

B) Lack of hydroelectric potential

C) Excessive groundwater in peninsular India

D) Abundance of surface water in arid regions
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112. Which one of the following statements about forest
resources in India is correct?

A) Forests cover more than 50% of India’s total geographical
area

B) Tropical thorn forests dominate the northeastern region

C) Forest degradation is mainly caused by shifting cultivation,
overgrazing, and commercial logging

D) India’s forest cover is increasing due to urban expansion
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113. Among the following, which is considered a non-
conventional energy resource?
A) Coal B) Geothermal energy

C) Petroleum D) Natural gas
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114. Which of the following statements correctly distinguishes
a natural hazard from a disaster?

A) Both are identical in meaning

B) A hazard becomes a disaster when it affects human life,
property, or the environment adversely

C) A disaster always precedes a hazard

D) Hazard refers only to man-made events
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115. Which of the following correctly represents the sequence

of stages in the Disaster Management Cycle?

A) Response — Mitigation — Preparedness —> Recovery
B) Recovery — Response — Mitigation — Preparedness
C) Mitigation — Preparedness —> Response — Recovery

D) Preparedness — Recovery — Response — Mitigation

115. Gupflay Goevresten od pm P ulflest &1 1 mis%er
Fiuimest auflenFuled 615)?
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116. Which of the following is the main objective of Disaster
Risk Reduction (DRR)?

A) To predict the exact time and location of disasters

B) To provide immediate relief during disasters only

C) To minimize vulnerabilities and disaster risks through

sustainable development practices

D) To restrict development in disaster-prone areas

116. Hevreupauetaupmled 618 CLpifla) ojLmus
@@Ll (DRR) (Lp&Hw &m%CsmearT@Ld?
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117. Which of the following is an example of a physical
vulnerability?

A) Lack of insurance coverage

B) Low income and poor education levels

C) Poorly constructed buildings in earthquake-prone zones

D) Weak institutional policies and governance

117. 9eTaumeleTalp e 61% & L 6D FTIbs
LTS LILIDH TG 2.5 TTGRTLOTELD?

<)) SALILTG) ()edevTenLo

9 GOMDES UGLOTGTLD LODDILD HO@fS

SL L@

@) Blwp®FHLD PG LIGSFHafled Fflwimet
g areno LI Ners) s L’ &g 1 miser

) BlmIeuess Ol TeaTensE 6T LoPmILD BlIeUTES SeTisFF

118. Which of the following is the first step in Disaster Risk
Assessment (DRA)?

A) Estimation of economic losses

B) Planning emergency response teams

C) Identification and mapping of hazards

D) Implementation of mitigation strategies

118. Gumifley Qyumu @ LI 19 T (LpF6d HL L_LDTS
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<) Curpertsrr @)LpLiLsear oH LGS
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119 Which is the highest peak in Nilgiri Hills?
B) Mukkuruthi
D) Both A and C

A) Doddapetta
C) Anaimudi

119. @ wewevs CGTL_fled 2 wrLoreT FsILd 618)?

<) Om L Quim

Q) AmaTLoLy

%) PGSBS
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120. Srivilliputhur Grizzled Squirrel Wildlife Sanctuary is
located in which hill?
A) Cardamom Hill B) Palani Hill

C) Varushanadu & Andipatti Hill D) Pothigai Hill

120. Lf@fledeS) SSHTT FLDLIGD QUTed ] ewst]eD
UGTRIGUEI& FIRTTVWLD 6THS LOGGVLILIE S ufled
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9) TVSSTUI LDEH GV
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121. State true or false.

1. All the rivers of Tamil Nadu are non-perennial except
Tamirabarani.
2. Tamirabarani is perennial as it is fed by both the

southwest and northeast monsoon.

A) 1 only true B) 2 only true

C) 1 and 2 true D) 1 and 2 false

121. SLHEHTL_cuppPled 2 6Tem LD evevdy) O)Limul

o168 GMILILN (D %:
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122. Mangrove forests in Tamil Nadu are found in:
A) Pichavaram B) Vedaranyam

C) Muthupet D) All the above

122. s181pBAL 1960 LoTElGCamel SRS 6T
SIRTLILI(RILD @)L _BIS6T:
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123. How many biosphere reserves are there in Tamil Nadu?
A) 1 B)2

C3 D)4

123. SOPBAL 19 6D 615560 GT 2 U FLOGRTL_ 6V
FHTLILISEIEGT O_GTGTGHT?

o) 1 )2

@) 3 ) 4

124. Sakkarakottai Tank Bird Sanctuary is located in:
A) Sivaganga B) Thiruvallur
C) Ramanathapuram D) Tirunelveli

124. 55575 CHML DL &6T LIDENG6 FIGRTTGW LD 6T
AL L SB60 Y6 LDbS|GTTS]?
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125. Which type of soil is found only in the coastal areas of

Tamil Nadu?
A) Black soil B) Gravel soil
C) Saline soil D) Sand

125. sllpmaig et sL_Gergll L@@ satied oL B
FTGRTLILI(HILD LDGSST GUGHF 617

<) &L 6wsT 2) BDSET H6VBS LDGHT
@) o LiLjioesst FF) LDGWT LI TI51 (& LDGHSST
126. During the Northeast monsoon season, tropical cyclones
are formed in the Sea and hit the coast of Tamil
Nadu.

A) Arabian Sea B) Indian Ocean
C) Bay of Bengal D) All the above
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127. What is the primary cause of drought in Tamil Nadu?
A) El Niiio
C) Water Pollution

B) Heavy snowfall
D) Monsoon failure

127. SLUHBAL 1960 QUD L FISHTGT (LPS T LD FTTGRTLD

615/?
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128. The State Animal of Tamil Nadu is:
A) Elephant B) Gaur bull
C) Cow D) Nilgiri Tahr

128. LO1LHBIL 19 &7 oTBlev @ilevsi@, 6157
<) @BFw 16 (HeoLo
@) us ) Bo& S seumd

<9/) W6 GST

129. Expand SIPCOT.

A) State Industries Promotion Corporation of Tamil Nadu

B) State Industries Proliferation Corporation of Tamil Nadu

C) State Industries Promotion and Co-operation of Tamil Nadu
D) State Industries Promotion and Export Corporation of
Tamil Nadu

129. SIPCOT e1681LIS 68T @Il flou S LD 6TeoresT?

<) SLOPHBTL B rplev QTS 201855 &1psLD
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130. Who among the following is known for developing the
concept of Possibilism?
A) Griffith Taylor
C) David Harvey

B) Vidal de la Blache
D) Carl Ritter
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131. Feminist geography critically examines:
A) Ecological balance

B) Spatial inequalities based on gender

C) Human perception in geography

D) Economic production systems

131. Gluewrauns Lafufwed o gmuiFFuiest (Lps S w
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132. Neo-determinism differs from environmental determinism
by:

A) Considering human freedom within environmental limits
B) Completely rejecting physical influences

C) Focusing solely on cultural factors

D) Advocating random human action

132. UG BlISTWIUITSLD D MIF LD
BliesTeurs s Fed) (b5 6TaieuTm LommLIBFD?
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133. Who criticized the exceptionalist claims of Hartshorne’s
work in geography?

A) Carl Ritter

B) Alexander von Humboldt

C) Fred K. Schaefer

D) William Morris Davis
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134. Which of the following books is authored by Richard
Hartshorne?

A) Kosmos

B) Exceptionalism in Geography

C) The Nature of Geography

D) The Morphology of Landscape
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135. What methodological shift is Fred K. Schaefer most
associated with?

A) Areal differentiation

B) Teleology

C) Quantitative Revolution

D) Environmental Determinism

135. 05110 71" Gs. CaodrLiflesr O Liwi(me_sor
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136. Who documented his travels in “Il Milione”?
A) Christopher Columbus

B) Marco Polo

C) Vasco da Gama

D) Ferdinand Magellan
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137. Which explorer reached India by sea in 1498?

A) Christopher Columbus

B) Ferdinand Magellan

C) Vasco da Gama

D) Captain James Cook

137. 1498 91D 4ew1(h) HL_60 uLSliing @) BFw men e
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138. Who led the first expedition to circumnavigate the globe?
A) Christopher Columbus

B) Vasco da Gama

C) Ferdinand Magellan

D) Captain James Cook

138. 2_@end (LP(LPEOLOWITHE FDHPIWI (LPFH6D &HL_6D
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139. Arrange the following explorers in chronological order of
their voyages.:

i. Marco Polo

ii. Vasco da Gama

iii. Christopher Columbus
iv. Ferdinand Magellan
A) i, iii, ii, iv B) i, ii, iii, iv

C) i, iii, iv, ii
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140. Who is regarded as the ‘Father of Geography’?
A) Ptolemy B) Eratosthenes
C) Hecataeus D) Strabo
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EDUCATION PSYCHOLOGY
SeLadl 2 _araillleL

Q.141) The Mid-Day Meal Scheme has been
renamed as which of the following?

(A) PM Aahar Yojana

(B) PM Annapurna Scheme

(C) PM POSHAN

(D) PM Nutrition Mission

Q.142) The main goal of the NIPUN Bharat Mission
is to ensure foundational literacy and nhumeracy for
children by the end of which grade?

(A) Grade 1 (B) Grade 2

(C)Grade 3 (D) Grade 5

Q.143) “Jaadui Pitara” is mainly targeted for:
(A) Secondary school students

(B) Parents only

(C) Teacher educators

(D) Foundation stage learners

—_ ~— ~— ~—

Q.144) “Integral education” covering five aspects of
human development is a concept advocated by:
(A) Sri Aurobindo

(B) Jiddu Krishnamurti

(C) Vivekananda

(D) Tagore

Q.145) Who is considered the Father of Sociology?
(A) Max Weber

(B) Auguste Comte

(C) Karl Marx

(D) Emile Durkheim

~ -l ~— ~

Q.146) Rousseau’s educational philosophy best
supports which concept?

(A) Societal control

(B) Naturalistic development

(C) Industrialization of education

(D) Rote memorization

—_ ~— ~— ~—

Q.147) When was Anna University, a premier
institution for engineering and technology,
established?
(A) 1929

(C) 1982

(B) 1957
(D) 1978

TRB
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Q.148) Who is hailed as the "Father of the Tamil
film industry" and is known for producing and
directing the first silent film in South India?

(A) K. Balachander

(B) Dada Saheb Phalke

(C) R. Nataraja Mudaliar

(D) S. S. Vasan

Q.149) Which Chola king is famous for his naval
expeditions that extended the empire to
Southeast Asia?

(A) Rajaraja Chola |

(B) Rajendra Chola l

(C) Kulothunga Chola |

(D) Adityal |

Q.150) Human brains having enactive, iconic and
symbolic modes of representation. This concept
formation was given by

(A) Bruner

(B) Pavlov

(C) Piaget

(D) Thorndike

Q.151) Pre-operational stage is one of the
important  stages of Piaget's cognitive
development between

(A) Oto 2years

(B) 11 years and above

(C)7to 11 years

(D) 2to 7 years

Q.152) Physical developmentis .
A) Quantitative in nature

Qualitative in nature

Reflective in nature

Continuous in nature

~—~

(

(B
(C
(D

~— ~—

Q.153) In Pavlov's classical conditioning, the
unconditioned stimulus (UCS) is a stimulus that:
(A) Elicits aresponse only after repeated pairing
(B) Elicits a response without prior learning

(C) Becomes neutral after conditioning

(D) Is the same as the conditioned
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Q.154) Thorndike's 'Law of Effect' states that
behaviors followed by satisfying consequences
are likely to be:

(A) Weakened

(B) Forgotten

(C) Repeated

(D) Generalized

Q.155) The Gestalt theory of learning emphasizes
that the learner perceives things as a:

(A) Collection of individual parts

(B) Whole or a unified pattern

(C) Random set of stimuli

(D) Response to a single stimulus

Q.156) The need to succeed, to excel, and to
achieve a high standard is known as:

(A) Self-Actualization

(B) Power Motivation

(C) Affiliation Motivation

(D) Achievement Motivation

Q.157) According to Guilford's 'Structure of
Intellect’ model, intelligence can be classified
along which three dimensions?

(A) Single, Two-factor, Multi-factor

(B) Operations, Contents, Products

(C) Componential, Experiential, Contextual

(D) Linguistic, Logical-Mathematical, Spatial

Q.158) Who proposed the 'Group-Factor Theory'
of intelligence, suggesting that intelligence is
composed of primary mental abilities like verbal
comprehension and spatial visualization?

(A) Louis Thurstone

(B) Charles Spearman

(C) Raymond Cattell

(D) J.P. Guilford

Q.159) Continuous and  Comprehensive
Evaluation (CCE) was legally supported under:
(A) NEP 2020

(B) RTE Act 2009 Section 29(2)

(C) Kothari Commission 1966

(D) NCERT 2000
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Q.160) Which of the following is the correct order of
the hierarchy in evaluation?

(A) Test » Measurement > Assessment > Evaluation
(B) Measurement » Test > Assessment > Evaluation
(C) Test » Assessment » Measurement - Evaluation
(D) Assessment > Evaluation > Measurement > Test

Q.161) A Mathematics Readiness Test to predict
performance in Algebra is an example of:

(A) Achievement Test

(B) Aptitude Test

(C) Diagnostic Test

(D) Prognostic Test

Q.162) Who is known as the father of the Great Man
Theory of leadership?

(A) Fiedler

(B) Thomas Carlyle

(C) Kurt Lewin

(D) Max Weber

Q.163) A student reflects on their learning strategy
and revises it for better performance. What type of
knowledge is this?

(A) Factual

(B) Procedural

(C) Metacognitive

(D) Conceptual

Q.164) The term Curriculum is derived from a Latin
word “currere” which means:

(A) To teach

(B) Torun/racecourse

(C)To learn

(D) To read

Q.165) Which principle of curriculum development
encourages addressing various learning styles and
preferences?

(A) Balance

(B) Individual Differences

(C) Utility

(D) Relevance

Q.166) Project-based, real-life learning in curriculum
best reflects which approach?

(A) Logical

(B) Spiral

(C) Unitary

(D) Topical
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Q.167) Which institution leads the national Virtual
Labs project in higher education?

(A) IT Bombay

(B) llISc Bangalore

(C) IT Delhi

(D) NIT Trichy

Q.168. Which toolis India’s first Al-powered teacher
robot?

(A) Vedabot

(B) IRIS

(C) EAGLE

(D) AARNA

Q.169) TPACK was proposed by:
(A) Mishra & Koehler

(B) Skinner & Crowder

(C) Morrison & Hunt

(D) Gagné & Krathwohl

Q.170) Which platform is India's main MOOC
provider and also serves as an OER repository?
(A) SWAYAM Prabha

(B) Pathshala

(C) SWAYAM

(D) e-PG pathshala
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GENERAL KNOWLEDGE
QU giMiey

Q.171) The first Indian to become a member of
the British Parliament was?

(A) Mahatma Gandhi

(B) Dadabhai Naoroji

(C) Subhas Chandra Bose

(D) B.R. Ambedkar

Q.172) Which was a military title during
Sangam Age?

(A) Poligar

(B) Perumakkal

(C) Enadi

(D) Manigramattar

Q.173) The Directive Principles of State Policy
(DPSPs) in the Indian Constitution were
inspired from which country's Constitution?
(A) United States of America

(B) United Kingdom

(C) Ireland

(D) Canada

Q.174) The highest peak in the Aravalli Range
is__

(A) Mount Abu
(B) Anamudi

(C) Doddabetta
(D) Guru Shikhar

Q.175) Which of the following is classified as a
primary pollutant?

(A) Ozone

(B) Smog

(C) Sulphur dioxide (SO,)

(D) PAN

Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5
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Q.176) On which date is India’s National
Sports Day celebrated?

(A) June 23

(B) August 29

(C) April 6

(D) September 5

Q.177) Which among the following
organisation released Multidimensional
Poverty Index in India?

(A) NITI Aayog

(B) Ministry of Economic Affairs

(C) National Statistics Office

(D) Ministry of Internal Affairs

Q.178) Who is known as the "Moon Man of
India"?

(A) Dr. K. Sivan

(B) Dr. Mylswamy Annadurai

(C) Dr. Vikram Sarabhai

(D) Rakesh Sharma

Q.179) The difference between the compound
interest and simple interest on 310,000 at 10%
perannum for2yearsis__ .

(A)X100

(B) X250
(C)R200
(D)X150

Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and
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Q.180) NABARD stands for:

(A) National Bank for Agriculture and Rural
Development

(B) National Bureau for Agricultural Research
and Development

(C) National Authority for Banking and Rural
Development

(D) National Board for
Resource Development

Agricultural and
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